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MPLE B Casey hit the bell in the school clock
tower. Her pressure reader, held nearby,
measured the sound intensity, or loudness,
at 40 Ib/in- after 4 s had elapsed and at

4.7 b/in? after 7.2 5 had elapsed. She

]
Y= ﬁ" remembers from her science class that

t"} sound decays exponentially.

- a. Name two points that the exponential
h w curve must pass t I!'l:1-lI:H|"L
' I'. b. Find an exponential equation that

maodels these data.

¢. How loud was the bell when it was
struck (at 05)?

The bell tower at Oglethorpe University
in Atlamta, Georgia.
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Casey hit the bell in the school clock
tower. Her pressure reader, held nearby,
measured the sound intensity, or loudness,
at 40 Ibfin* after 4 s had elapsed and at

4.7 Ibfin® after 7.2 s had elapsed. She
remembers from her science class that
sound decays exponentially.
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a. Name two points that the exponential
curve must pass through.

b. Find an exponential equation that
models these data.

¢. How loud was the bell when it was
struck (at 0s)?

The bell tower at Oglethorpe University
im Atlanta, Georgia,
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